
hudbrftumu[ub g nrgrutrJrZtbph {hpuphpJ ut
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Zu2rlhtnnt
dutlubu\urZpZ*hh

hruurnrurnrlurb
bruluruhrurhrl'
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Sruppbpnplnrtr
tur{blugnLf (+)
b{uqbgnnl (-)

I bqUUnFSLbP' ru;4 pr[nrrf, 30826,7 30717,8 -108,9

1 Unrpuhnhurthq, nnhq' 30485,0 30485,0 0,0
1 . 1 LhnunurUutr LnBnrBturL qbnd 6864,4 6864,4 0,0
2 f|run rilLurUuL ulnuUrnhUur lhq 290.0 178.2 1 1 1 , 8
3 {urndruUurtnrHnrtrhq 41,7 41,7 0,0
4 U ru ur u r.u n h rjurtr h U n rI n rL u I h ur dur d6 ur ntr bn hq 10 .0 1 0 . 0 0,0
5 Unrnuhnhru enh qbnd 2,9 2,9
t l UUfuUblil uln pdnrf. 37603.4 35830,7 -1772,7
1 Urfu r.uuurdundh q6nd. nnhq' 31000,0 30906,8 -93,2
t.1 trbnuntuLr,utr UnBnrBr uL hurumhBtrbnh qbnd 2533,0 2533,0 0,0
2 Qbnnrqilutr q6nd 1810,0 1303,8 -506,2
3 hr bUmn ur htrbnqhur rh c6n d 1000.0 807.7 -192.3
4 Qndnrn-Untnunr q6nd 100,0 43,2 -56,8
5 Unpruhurtrnrplurtr c6nrl 96.8 96.8 0,0
6 Ufu rnurnutrnrBrurL q6nd 40,0 30,0 -10,0
7 9uiruh q6nd, ultn Brlnrd' 107.6 80.9 -26,7
7,1 purdutrnnnuthtr tl6urn 57,6 48,0 -9,6

7,2 nnulbu116un 20,0 7,9 -12,1

7,3 [LmbpLbm Quq 30,0 25,0 -5,0
B alu hurtr ur lhtr uruhurutrn ralurtr a6nrl 60,0 60,0 0,0
9 Putr Uru rhtr 8urnurrnrBrutr q6nd 6,0 0.8 -5.2
1 0 StrrnbuurUuL uuurnurtrotrbnh o.6nd 200.0 200,0 0,0
11 $n ruuhtrrurLu rhL urtunutrptrbnh q6nd 200,0 100.0 -100.0
12 ULtrnh abnd 1000.0 960,9 -39,1
1 3 Snrutrurunnmh q6nd 570,0 479,2 -90,8
1 4 CLBuqhh rlbnutrnnnqdutr c&nd 700,0 299.6 400,4
1 5 Q bnn rq rJutr h r.r.r rju.r U r.u n oh u rl u u ru n [r dutr a6n tl 150,0 148,1 1 , 9
1 6 U u ur u r.r.rn U dutr tr L n dn rL u r h ru rJur d6 ur ntr bn h q6n U 10 ,0 1 0 . 0 0,0
1 7 9b n riltr bn h h ur rlur [r u nann h 6ur nur r n rcr rutr o6nd 100,0 -100,0
1B (ur dur 14 ur pqhtL bn h mbfub I la u lub u q u u ur p 14 durtr q6n 4 120,0 90,5 -29,5

1 9 (urrlurlurpqt'r{hL Bnurqnh t Uulph uquuupltlub q&n{ 105,0 95,0 -10,0

20 hr. umnnurqnnrcrub q6nd 6,0 3.0 -3.0
21 (u rmu.rnunn rarn rtrtrbnh o6nd 6,0 6,0 0,0
22 F urdrutrn n nuqn n ualruL q6n d 60.0 30.4 -29.6
23 9urnuruurnrurhL 6unur rnrarurb o8nrl 10.0 -10.0
24 'rlurnmunhn d6untrbnh q&nd 36.0 36.0 0,0
25 Ulr 6urfuubnh c6nd 110 ,0 42,0 -68,0

<U.fbLnhP+ (4lUr{UUnhP+) -6776,7 -5112,9 1663,8
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b[rurlnrmfuhnh nr druJuubpJr huumum{ut tnu]uruhu2{f h rlrurumrugh Ururnrupn4rullurtrh

'Zur2rlhurm durtlurhur\u2pgruhfr hrurlurp gmgurhlr2hhpp lpurgr]nr-rf hh urdnqu\utt

SlrOt'blr' h.{up4utr1rufu
/ urbnrL, uqquLntb/

L.UrupquJutl

r.ud

?d

qltuuq.nr' <uc{u4tu<'
/ ubnrL, uqqubnrU/



huq.4prutl

h/h (nry{u6f urtrtlutrnulp
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hruuunurnrlub
trruluurhuphrl'

Zur2r[hurnt
durilurlrur\ur2F2uUlr

rhruuuruoh
turnrunmutruh'

SurpphpntplnLtr

urr{blurgntrl (+)

b{urqbgnrf (-)

I
np ru rlu 14 rufu df gn gb bp [r ruqru rn db ru g n p 4p h ru 2r{brn n I
du rltutr ru I u2Fgutrh u Uqphtr

5244,7 5244,7 0,0

t l Cfu 4ru dbtrp nn u du q uh rlJrgngtr bp Jr trhp hnuphp, ru1 + pr[nrtl' 31480,2 30734,8 -745,4

1 UnLpufr4frulhg, nnhg' 30485,0 3048s,0 0,0
1 . 1 trbnuntuhtuL UnBnrouL qbnd 6864.4 6864.4 0.0

2 flLunLrILurlurb'4purqmf'qu{ hg 350,0 213,8 -136,2

3 {rup6urLlulnplnrbfrg 50,0 30,0 -20,0

4 U q u u tu p 1.1 rltuL tr 14 n d n rL u t h ru f tu 116 ur nU bn h g 10,0 6,0 -4,O

5 Q$nfu u\un[{nr1 qnptuppbbnhg (r}pullu2trnphfrg) 5E5,2 -585,2

i l l
Ch ryu fbh p rlpu fru l{ rufu rlhgngt bpfr u p rn u h n upbp, ru1 4
tadnrtl'

36662,4 32968,1 -3694,3

ru) nhraruqh!, utD B{nrf' 36662,4 32968.1 -3694.3

1 U2pumru{rupd[r q6n{, npfrg' 29000.0 2BsBs.0 -415,0

1 , 1 trbprunul4utt lppnrpluttt huutnf ptbpft q6n{ 2533,0 2533,0 0,0

2 Qbnnqfu:b q6n{ 2500,0 609,9 -1890,1

3 E1b!mpufttbpqfiu1[ q6n{ 1300,0 808,6 491,4

4 Q p dn Lr1-! nlnrrlnr q6n { 100,0 33,6 -66,4

5 Urpu.r h rutr n rp1 tuU q6n t{ 94,2 96,8 2,6
o UpmurputrnrpluL q6nrl 40,0 30,0 -10,0

7 9uqh q6n{, u14 p{nrf 107,6 BO,B -26,8

7,1 prudutr np ryr4f tr r[6nrp 57,6 48,0 -9,6

7,2 pnqbu{6nrp 20,0 7,8 -12,2

7,3 frbtnbplbtn t1uq 30,0 25,0 -5,0

B Quhurtlulf tr uluhqubnpl tuL q6n{ 60,0 60,0 0,0

9 PUL!ur1[! 6runurlnrplurL q6n{ 6,0 0,8 -5,2

1 0 Strm bu ur L1 rutr uqp utrptr bph q6n{ 200,0 200,0 0,0

11 *nuubtrt uLtruthtr ruqnuLBLbnh q6nd 200,0 100,0 -100,0

12 Ublah q6nq 1000,0 960,9 -39,1

t 3 Spurtruqnpmh q6ntl 570,0 479,2 -90,8

t 4 ILpugf'q {bpuLnpnqdtub qdn{ 700,0 299,6 -400,4

1 5 gdurtr hrutlurUunqh uquuupldurL q6n{ 110,0 102,0 -8,0

16 U q u u upl4 rltub L. ! n dnrbul h urtftu rl6urptr bp I q6n { 10,0 6,0 -4,0

l 7 QL n nltr bp fr h ru dru 1.1 u pqn qf 6ur nurl n p; utr q6n { 100,0 100,0 0,0

1 8 ( tu f u ! u pqhtb bn h m b futr fr t,1 ur L1 rutr u u4 u u ur p L1 rIuL qbn { 120,0 83,5 -36,5

1 9 (rudrul4upqlulftr 6purqph h Unrtph uquuuplqrlurL q6n{ 105,0 95,0 -10,0

20 fl.uunnpuqpnpluL q6n{ 6,0 3,0 -3,0

21 (ur1 rn upupntpl nrtrL bpI q6n { 6,0 6,0 0,0

22 FurdurtrnnnuqnnrouL qbnd 58,4 58,4 0,0
23 9urnuumnurthtr burnutnrBt uL qdnd 10,0 -10,0

24 (ru p ! ur1 frtr q u p m u {n p n rp1 n rtrtr bp fr q6n {, u.r1 4 ptln rd' 80,0 57,8 -22,2

24,1 UU(-[r q6n{ 80,0 57,8 -22,2

25 'tlupmu4frp 116ruptrbpI q6n{ 36,0 36,0 0,0

26 kpb4fimnpuluU qupurpfr dtrpdtuL qEn{ 33,2 33,2 0,0

27 U1 1 rupururhnupbpI qbn{ 110 ,0 42,0 -68,9

IV
np ru rftu l,1 rub d[gngtr bp ]r ru qru m rltlu g n p 4p h ru2rlbrn n r
dru rlub ru h urnoub h rl bnohtr

62,5 3011,4 2948,9
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